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52=5x%x 5

53=5x 5x 5

TiX 54 EOWVIHEKRTLEOIN? =5x 5x 5x 5
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(1) 42=4x 4=16 (2) 3%=3x3x 3=27 (3) 25=2x 2x 2x 2x 2=32

i (1) (—2)4=(—2)x (—2)x (—=2)x (—2)=16 1

(2) —24=—(2x 2x 2x 2)=—16
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2 (1) (=3)3=(—=3)x (=3)x(—3)=—27
(2) —53=—(5x 5x 5)=—125
(3) —1. 52=—(1. 5x 1. 5)=—2. 25

(4) (—4)2x (—7)=16x(—7)=—112
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o (1) 3—(—2)x5=3—-(-10)=3+10=13

(2) (=6 )x 7+75+(—52)= —42+(—3)=—42—3=—45
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fil 3 [(RoTHEL LD
(1) —4—6x(—3)=—4—(—18)=—4+18=14
(2) 3x(=7)=9x(—=8)=—21—(—72)=—21+72=51
(3) 5x(—12)+14+ 7=—60+2=—538
(4) 10+ (=5)—(—6)x2=—2—-(—-12=—2+12=10)

(5) 4x (—2)+(—=32)=—8+(—9)=—17
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3x {=4—-(19-8)}=3x{—4—11}=3x(—15)=—45
() oFzELEST ThbIMNT TOEX
i (1) =5+(183—-7)+ 4=—5+12+ 4=—5+3=—2 4

7T—{(—2)2—(9-14)}=7—-{4—(-5))=7-9=—2 (o)



